1. Ene
F8Y generateq iy, Stars is mainly due to
(A)Nuclear fusion (B) Nuclear fissi
C | Ission
( )Grawtatmnal pull (D) Chemical reaction
TR F Iif T8I Wl a7
(A '
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2. What

15 the cause of green house effect:
(A)Infra-red rays

(B)UV rays
(D)Radio waves

GEg|
e following law:

servation of energy

: -y
(C) Conservation of momentum

(D)Nong of these
el R g1 9 Fanet P g sfen: | |
(W) ST WRemget's do it 1oge) Guftior o
(C) AT ERET UX (0) 70 AP el
4. Resistance of wire is 500. What will be its conductance:
(A)0.002 (B)0.02
(C) 50 (D)500
faeft o @1 wfaRty 500 8 1 5@t Agya avere fa ghi:
(A) 0.002 (8) 0.02
(C) 50 (D) 500

- T
5. A pipe open at both ends has a fundnmental"l” in a:jr. Ieh“emql?re .-,-;;Z enlfil']af
vertically in water so that half of it is in water. ['he fundam )

the air column is now:
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the ratio of decayeg " ¢ Samp) I“"h A and B 47€ 20 uchi‘ Afte
A "Mbery nfl,qla‘t equal numbe’ e
(ﬁ) 1:16 nd nuchel ﬂ'i“ pe:
(C) 1:4 (By4:|
@Wﬂ'ﬁ"fn (Dy5:4 ﬁﬂa’f
U g " | WRH
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(A) 1:16 Youtube channel- GkSansaar
(€) 1:4 B) 41
d _ (D) 5:4
7. Area under speed time graph represeps,
(A) Distance :
(B) Acceleration
(C) Average acceleration (D) None of these
R-9HG TP % dgd & a1 guta &:
® & (B) TR
(C) e Rl o 7 APE T
8. The acceleration due to gravity at the centre of the earth is:
(A)9.8 ms? (B)4.9 mg?
(C) Zero (D)9.08 mg*
‘l‘ﬂ%%ﬁwwﬁmmﬁmm&
(A) 9.8 ms? (B) 49 ms®
(C) Zero (0) 9.08 ms?
9. Light year is a unit of:
(A) Time (B) Mass
(DyNone of these

(C) Distance



wory o e goré ¥ ® T

e O g,
(© :
jc motion wj;
10. A particle perform simplé "'rm::,..- from equl:': mm"“ﬂo A
tripled at the instant that Is at 418647773 briy LT
amplitude of the motion is: (B) 3A " Th ey
A
A
LaR{1N A
meﬂmmmﬂﬁ;ﬁ?‘“m%m .
adear & 4 ararees et A D ; T W
A ®) 34 el
(A) = V41
3 D TA
(C) AV3 O

11. A student measured the time Pﬂ’i“d of 100 0scillagiopg 0f & simp
four times. The data set is 908, 91s, 95s and 925, If the minimym r::‘]:' F'Hdu!um
meisuring clock is 13‘ I]IE]'I the mwrt&d n“.'.'Hﬂ fime shnuld h‘}r ISing In fhe

(A)9242s (B) 92455
(C)92+1.8s (D)92+ 35

U BT U Y9 1 310 & 100 NI &1 979 4 a7 7101 2 oy 39

90s, 915, 955 3 925 U § | TR FY 1R W 15217

rlbledc - TS &1 a8 H70y 15 2 g3 A
(A) 92+2s (B) 92+5s

(C) 9241.8s (D) 92435

u":m"fdﬁh is revolving in o cireular orbit at a height ‘h' from the n.'.'lrlill'-u
.u {l'lldill ﬂ'f“ﬂh R; h{{n)‘ i‘hl‘ Illiliiﬂlum increase inits orbital velocit

i:ezllu:lﬂm that the satellite could escqpe from the carth's gravita tional field.
(Negleet the effect of atmy nnl;h[:, )
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3 which ©f the following IS & Dlodegragy,y, polymer
: {Mpalyih""ﬂ (B) Bakelite
(C)PHBV ﬂq “]']P\r{
|1 iR
pafef@a A8 TR vy 3 gt 8
" gred= (B) Aberrze
odw@dd 0) & 0

(A)Cu and Zn (B) Ge and Si

(C)Zrand Tr (D)Zn and Hg

wﬁﬁw%ﬁﬁ%m%ma@mmmm

(&) Cu 3R Zn ®) Ge aigst
(© zr AR Tr L (QIZn sig g
- 15, Dry ice is: S
| (A)Solid NH; | b lIB} Solid SO,
(C)Solid CO> ¢ = < (D)Solid N»
(A) O NH; 8) 3% SO,
. ©TECO, (D) BT N,
flﬁ. The molarity of pure water is:
- A1 (B)35.56
- (0556 (D) 100
(A) 18 (B) 5.56
(© 556 (D) 100

17. Which of the following ions is colourless [n i
(A)crs (B)SC”
(C)Ti*3 DV~



B 1 3 o A A #:

(B) Sc*!
(A}Cr” (D) \LAR
)T+ L.
of catenatioy,
18. An element with maximum™ pow e’ N
(1)
©cC o W
Wad fire e & @ F
(A) S (©) P
(Q C
plue, the probaye oo
19. ~ anges red litmus PH is;
The solution changes (B)
A)l
EC; ) (D) 10
i | ‘ ‘
ﬂﬁ%ﬁwmﬁﬁﬂﬂﬁ’ﬂmﬁm% RSP SME pi 727 gy
A1 (B) 4
D) 10
©)5 (D)
20. In Modern Periodic Table the number of groups and Periods are:
(A)7,18 (B)18.7
(€)9,16 (D)16,9
amyPre armad st W 3 amad @ Ham g
(A) 7,18 (B) 187
(©) 9,16 (D) 16,9

21. Volume occupied by atoms in body centred cube is:

(A)52.4%

(3) 74%
(C) 68% (D)None of these
(A) 52.4% 749

(B) 74%

22, Commercia| Rame of py
(A)Dacron

(C)PvC

Yacrylonitrile is:

(B) Orlon (Acrylan)
(D) Bakelite
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a‘miﬂl name of Baking Sody .
{ﬁ)N"OH (B) NaHCos
(€)Nac! (D) NayCos
Wa’fs‘lﬂ ATA® T,
(A) NaOH (B) NaHCos
(€) Nacl (D) Na,Cos
24, Which of the following bases is not present in DNA:
(A) Adenine (B) Thymine
(C) Cytosine (D) Uracil
paffEa A P19 3 ¢ ¢ SufRm @ 3.
(A) A (8) Uiz
(© SRR (0) TR
' Biology (25-35)
‘ 25.Which of the following plants is used to extract the blue dye:
' (A) Trifolium (B) Indigofera
(C) Lupin (D)Cassia
- PraffRa & A R 1 o1 guan e Free ¥ g R s @:

A TR (®) ERMB
(© gt 0) -
%.ﬁh’ and ‘Kalyan Sona’ are the varieties of:
- (A)Wheat (B) Rice
 ©)Miltet (D) Tobaceo
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3% Whieh of the following organisms are known as chiel producers in the oeeqy,.
(A Dinotlagellates (B) Euglenoids

(OYCOvanobacteria (D) Diatoms

PrafR 3 Q o ot srgremrY A 1 IAUIED ¥ 9 H A 7 ¢
(8) g EH

(D) S

A SIENRGACY

© SrrRE
28, Ldentify the vertebrate gronp of animals characterised by Crop and Gizzard

in s digestive system:

LA Amplhibia (B) Osteichthyes

() Aves (D) Reptilia

m&mﬁﬁﬂmmﬂmﬂmdﬂﬁum"@
Prad o siftrafd ¥

(A THIR (®) wger Faferdl
(© usiant (D) wérgy A
39. Which of the following is not an autoimmune disease:
(A)Psoriasis (B) Vitiligo
(C) Alzheimer’s Disease (D) Rheumatoid arthritis
RraffRe & & o) a1 sy T8 ¥
(A SR (8) fafefam
Q) SFeSTEHR T (D) FHEES IR
30. In plants ‘Xylem’ is responsible for:
(A)Conduction of water (B) Conduction of food
(C) Conduction of amino acids (D) Conduction of Oxygen
el A wirger e g Swerd §:
()9 71 T (@) 49 1
(C) Rt 35T 1 T (D) 3T 1 a8
31. What is the reserve food in plants;
(A)Fat (B) Starch

e
() Prctoin (D)Vitamin
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o R YEundero metnmorphosis
- ) Sty 1iwhy

g = ; ) Tuniente

(B) w5 o
L0) exiyve

&

mples of homologous organs.

JHuman arm and fore- ~
il b LU (B) Human teeth and elephant teeth

'oato and grass uprights (DAl the above

¥ 3 ¥ IareRon:

1

S T R A & S () e &l ol el ¥ el
MR 3R TR & FHuRa el () FuleRt sl

s -

of mammalian embryo is derived from:

R - =

ctoderm and mesoderm (B) Ectoderm and endoderm

Aesodermr and trophoblast (D) Endoderm and mesoderm

o 9 s e f & i
e U WA’ () QI T4 SRl

TR U QIR (D) ST T e



Mathematics (25-35) n (A.P) then which of the l'ollowing is
25. If a, b and c are in arithmetic P

: _ b+c
pooy a+b (B}ﬂ -7
ol k2 (D)b=2(a+c)
b= 5 AP AT Ha
MR a, bq;qmmmmﬂh‘lﬂ"‘ "
[ﬁ] = atd {B] a= T
z (D)b=2(a+c)
i ‘Tﬂ is 228. What is their sum:
26. Two positive numbers differ by 7. If their product is
(A)28 (B)29
(C)30 (D)31

ﬁmﬂm&ﬂmm1ilﬂﬂmﬂﬂmzzsﬁ?ﬁwtﬂm
mm:

(A) 28 (B) 29
(© 30 (D) 31
27. The roots of the quadratic equation 3x2-7x+2V3 =0 are:

(A); and 2v3 (B) - and 2v3
(C)V3 and -2v3 (D)V3 and 2V3
fema wflevor ax-7x+2V3 = 0 FHWE:

(A) 5 and 2v3 (B) —:and 2v3
(© V3and -2v3 (D) V3 and 2v3

28. In a circle, angle subtended by an arc at the centre to

the angle subtended by
that arc in the alternate segment of the circle is:

(A) Double (B) Triple
(C) Half (D) One third
mwﬂMmmﬁw GrEC
R s mwmtﬁrmmwmﬁm
(A) G (B) %’:ﬁ]
(©) 3y



29. In an examination, the PasKin

40% marks and fajjeq LALTTI Wax 60% of the total marks, I o studeyy

mﬂ'ﬂlﬂ'ﬂﬂ Was: by 1 Marky, then the maximum marks in (),
A)100
:C) 200 (1) 300
(1) 500
100 S A Srgeftof gon, mmm‘“"‘;:rgﬁ ey el @ 40% 30w f6A oy 4y
100 )
™ (B) 300
() 200

(D) 500
30, A sum of money is to be distriby(,
5:3:4:2. If B gets Rs.800 more th,

(A)Rs.3000 (1) Rs.4000

(C)Rs.5000 (1) Rs.5500

T A AR BV AB, €0 5:3:4:2 & worequrg & frafva far o & 1 af2 e =1
p & 800 ¥ fU Frerd &, o A 1 R v 2 B

(A) 3000 FTY (B) 4000 ¥4
(©) 5000 ¥TY (D) 5500 FTY

d among A, B, C, D in the proportion
n D, then what is share of A:

E 31.If the 2"", gth o d 9™ germs of a non-constant AP, are in G.P, then the common
ratio of this G.P. is:

4
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Joie At w1 A SUTd &

OF ® 3
'-.-tm 0

v

o ind imaginary, is:
. A value of 8 for which 2oy g is purely 1M
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(C)sin (‘(-‘_l

(L)
V3
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SO |
A Lot fi (14 ranyx) " o fo 11 el o
-2 (m!
©mn (1) 1/4

| WP (1 4 V)™ B tog p werd B

| w2 () 1

(©) 12 (D) 1/4

: | ‘um M“ﬁ' Pﬂll* ﬂj _l. ’) from the pliill‘ I-y-'!-‘ﬂ"ﬁ measured along the

(A)3W10 (13) 10V

©F )7

G (1, -5,9) W s-y4 225 8 aw G o) YT -y -2 ) R A wrd) o 2.
WV (B) 103

© (D) %

vt Qhﬂ.q '" q V(p Vq)is equal to:
(BypA q

.J;I-.:,_

(D)p Vv ~q

BT A -
(B) pA q

(D)pv~q

e Road Not Taken':
(B) Robert Browning
~ (D)None of the above
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(1) Mo of the nhaove

h brothers ofroy LT computer for my reportt

-_ () T he e
g

N (1) 1 heres
Vit s i sonnet:

s

JA poem ol six hin :

- " (1) A poom of cight hnes
N A poem of twelve liney

(I A poem of fourteen lines

dos the part of the speceh of (1, undertined word:
thought the movie ended ahyapiny.

'Nollll (1%) Adverb
-":"_“'- V.I'b (1) Adjective
dentify the spelling which s correct:
scommaodate (1%) Accomodate
) AC comdate (1) Acomodait
)4
I in the blank using corvect article:

| T —— Shakespeare ol Tndha.,

(1) an
(1yany of the above

ity the tense which has been used v this sentence:

{ .
0 ond of this year he will have suved u lot of money.
N (13) Future perfect continuous fense

lure continuous tense

Wture indefinite tense

person through his paces”
Lhim on the right track

it hiy abilitics

(D) Future perfect tense

eins:

(13) Make him quicken steps

(1 y) Inspire him to work hard



I” HI'IHII'!. 1] fing ol
dlined part of the oy,
“!::::" ll:: ::l:ilr (han It, thed mark YOur rospg g, “m"“'::;;".:':l (A),

mark the option (D) as response! LT,
He wanted (hat Liefl immediately
(B) me 1o leave
(A) may have (D)YNo improvemen
(C) 1 leave
Hindi (46-55)
a6, " W g ¥ | AT T STV G AT o g
A) R T (B) HyaI aray
(© g A (D) fory aray
47, Wy v ¥ we 8
(A) Srardhyra (B) Aoy
© Ry (D) ¢dad
48, “woerdt ok worard s #:
(A) R & W (8) MY @t fad
(©) Wretg wite & (D) TG & =y
49. BT I BT R §:
(A) BTE Hifer gep (B) WTeR I qecb
(C) WTER Wel g (0) T A &Y Tt
50. reTa @1 Rvdars v 3
A gt (B) HIATE
(O W (D) YT
n.Mlﬂmmﬂhaimm-&t,
@wmn (B) 22
(€ 33 (D) 44
52. "W TR 8 1 95 I W v
(A) TIHHSTE ORIGEAG
(C) M

(D) 79 | ¢ 7



W1 281 R 1 g ey & € &
(B) W9l
[D]&I;Ilﬂ

(®) a5

(D) ARTE

LR R o ge——— R 2
®) 17

D) 22

(B) lodine excess

(D) Bromine deficiency

(B) MUISH &1 Sf¥@mar &
©) s F it @
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59. Where is the Head Quarter of District Kangra;

(A)Palampur i DhammShala
(D)Nurpur
(C)Kangra
Roen it 1 er T
(A) HITHEY ) A
(© FhTT (D) "R
60. The tourist place ‘Khajiar’ is situated in which Districy of Himachg| Pradesh:
(A)Mandi (B) Chamba
(C)Kangra (D)Una
Ties v whmr s v ¥ f5u e d kg 3.
(A) {31 (B) %1
(O HFTST (D) Sl
61. The ‘Phaag fair’ is celebrated at:
(A)Una (B)Bilaspur
(C) Hamirpur (D) Rampur
(A) S (B) ferdmagy
(© TR (D) TR
62. ‘Simbalwara wild life sanctuary’ is situated in which District of Himachal
Pradesh:
(A)Solan (B) Sirmour
(C)Una (D)Kangra
MWﬁﬁaa{w%ﬂmm%ﬁmiﬁﬁﬁm%’:
(A) Trer (8) RRER
() &1 (D) BT

63.The ‘Maa Shoolini Fair” is celebrated in which town of Himachal Pradesh:

(A)Palampur (B) Solan

(C)Mandi (D)Kullu



mﬁamtmmﬂﬁmwma’:

W (B) HieH
@ % -
¢4, The International Yoga Day i cejer, . ‘Iﬁﬂ
» rated on:
W2 rdmm: (3)22™ July
()23 August (12)24" September
Wtﬂﬂﬁﬂﬂ S T S .
w21 (B) 22 eI
@239 (D) 24 RiciaR

Teachers’ day on 5™ September is celebrated every year ¢ commemorate the

birth day of:

(A)Dr. APJ Abdul Kalam (B) Dr. Zakir Hussain

(C)Dr. Rajendra Prasad (D)Dr. S.Radhakrishnan
goad 5 fidee B s foaw mmtmﬁmaﬂmﬁm
Tt 8

(A) S T Ut o Sfegel e (8) ST FfdT g

(C) 3. eI WIS (D) ST, T8 qUIPUH

66. The only sports person who is decorated with the ‘Bharat Ratna’ award:

(B) Sachin Tendulkar

(A)Major Dhyan Chand

(C)Milkha Singh (D)Saina Nehwal
vowE e RS B *WRd Td WA A fyfra a3

(A) HOR &1 ©G (8) B AP

() forean Rie (D) WA TEaE

67. Olympic games are held after every:

(A)Two years (B) Three years

(C) Four years (D)Five years
s it s P 3 90 P T

) 29§ @ 3%

D) 5 a

(© 479



ociated with which spq pys.

68. Wimbledon 1‘tﬂl"’"'""""'I ganl (B) Badmintop
(A)Lawn Tennis (D) Cricket
(C) Chess
Kb WWreR L
(A) B 2 o) fbdpe
(C) TR
69. Who invented Computer? (B) Charles B
(A) Broket H e tbiege
(C) Stephenson (D)3rmes Watt
e 1 T R
. (B) TG S
O R (D) ST are
70. What is the name of fighter plane purchased by India from France:
(A) Lakshya (B) Mirage
(C)Rafale (D)None of the above
HROaY gRT Wig | @S TSI [0 BT 1 =14 8-
(A) T& CIRERT
(@ W ©) TR AT T8

71. Name the fi i i
' ¢ first Indian who received Paramvcer Chakra posthumously:
(A)Major Som Nath Sharma (B) Ikka Singh

(C) Shaitan Singh (D) Lakhan Pal
akhan ra

WU “Uadi ap
W] v WRAT qargu:
(A) TR G 1y Ty mqﬁ o

() e Rig (B) T RiE
72. Which (D) @@ drel

o country won the Cricket world Cup in 2019

(C) India (B) Australia

(D) England



“’“iwmmmmm:
N W (B) affa e
@ ¥ (D) g1i¥e
R which of the following is a Ry, crop:
(A PaddY (3) Wheat
() Cotton (D) Maize
@ ot T wE
(A U (B)
¥ (D) THaRpT
ﬂmnimtomte of Mushroom Research (ICAR) is situated at:
(A)Shimia (B) Kullu
(C)Solan (D)None of the above
yRdta P SFRUT UREE BT werey srpiu ey wE 8
(A R ®) T
(© Fre (D) 3T QA B TR

! 75. Giri-Bata Hydro Electric Power Project is situated in which District of
~ Himachal Pradesh:

(A)Kullu (B) Chamba
(C)Mandi (D) Sirmour
Pf-arer wrer Rigga ufder Rarae e & fow fora # &

A T (8) a¥all

(© w& () R
%6. Paonta Sahib is situated at the bank of which river:
(A)Yamuna (B) Ganga
(C) Sathuj (D)Saryu
- T wRy e RREE
; (A) T @ T
(0) ¥4



77. Whe is the leader of Chipkn Movem="

(A)Sunder [.a! Bahuguna @)K R Mamsie
(C)A P Josha (DY None of e shone
R sidaT = Iga B P _
() HaT e T ® F T
=*—-r=i"
(© gt St OFRES
78. ‘Parshuram Taal (Pond)’ i"“
{A}‘im IBIT!_EI-.%‘."
jRemuxa
(C) Rewalsar (DjRen
mwmuﬁwﬁﬂz
) Ptz ) J
(¢ Faam D) =

79. What was the name of first satedlite of India:

(A) Aryabhatta (B) Bhaskar [I

(C) Bhaskar | (D) None of the abose
arrarad ¥ gd I9uE 1 ¥ A U

(h) ARHE 2 =

(C) HRDE- - g:—:%':ﬁ'é:f

80. Where is Hidimba Temple situated:

(A)Manali p—
(C)Karsog (DyKullu

RfEa Al wel R 2

W -t (B) GRTON

(C) FE -

81. In India, ‘Kargil Vijay Divas’ is celebrated on:
(A)22* July

(B) 23® July
(C)26™ July

(D)24™ July



virraad & wrfive Rrw Raw wa e o §:

(A) 22 g @ 23 gené
(©) 26 e (D) 24 g
82. ‘Baspa’ Is the tributary of which river

(A)Satly) (13) Rav!

(C) Beas (D) Drahmpuire
wrerat vy Y ot g T B

(A) Y my )
(W (D) BN

g3. The birth anniversary of Dr.B.R. Ambedkar, the Father o -
Constltution, is celebrated on: Hiag

(A)23" January (13) 25" October
(C) 16® September () 14 April
wfur Prafar 2. .ozt ol srid wa wend ord 2
(A) 23 STt (B) 25 SKJAR
(©) 16 R (D) 14 3t
84. ‘Holi’ Festival of which town is famouys in Himachal Pradesh:
(A)Kangra (B3) Shimla
(C) Bilaspur (D) Sujanpur Tihra
fewmae wewr o wgi @) By HUIEY (3
(A) BITS] (13) fRmrer
(C) feemrgR (1) YSIFIR gl
T" 85. ‘Rohtang Tunnel’ will join which two Districts of Himachal Pradesh:
- (A)Kullu and Lahaul-Spiti (B) Kinnaur and Lahaul-Spiti
(C)Mandi and Kully (D) Shimla and Kullu
T ST erer s & fot ) el a0 e
W) T IR e Ry (8) fAR 3R adva-fafa

Q%) 3R ey (D) FRImeT 3R P



